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Question No : 1

A Backup Administrator configures a backup copy job containing several VMs each of
which are backed up by different daily jobs. How many backup files will be created as the
result of the initial successful run of the backup copy job? (Choose two.)

A. One backup file per one VM

B. One backup file

C. One backup file per each VM multiplied by the number of existing restore points for the
daily backup jobs

D. It is impossible to create a backup copy job for this setup

E. One backup file per each existing restore point of the daily backup jobs

Answer: A,C

Question No : 2

Which Dell EMC SAN storage systems are compatible with the Backup from Storage
Snapshots feature in Veeam Backup & Replication? (Choose two.)

A. Dell EMC ISILON

B. Dell EMC Data Domain

C. Dell EMC VNX, VNXe and VNX2
D. Dell EMC Unity

Answer: C,D
Explanation:
Reference https://www.veeam.com/backup-from-storage-snapshots.htmi

Question No : 3

When might a Veeam Backup Administrator choose to use Veeam Management Pack
instead of Veeam ONE for monitoring and reporting?

A. If LabTech is installed in the infrastructure
B. If Microsoft System Center Operation Manager is installed in the Infrastructure
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C. If the infrastructure contains Microsoft Hyper-V hosts
D. If more than 6 sockets need to be protected

Answer: C

Question No : 4

Which of the following is the function of the guest integration proxy component?

A. Deploys a Veeam persistent agent on every Windows VM to be processed

B. Mounts the VM file system for browsing purposes when performing a restore to remote
site

C. Deploys a temporary runtime coordination process on every Windows VM to be
processed

D. Processes VM data, taking the load off the Veeam backup server

Answer: C
Explanation:
https://helpcenter.veeam.com/backup/vsphere/guest_interaction_proxy.htmi

Question No : 5

After a successful replica failover, you decide that you want to switch back to the original
VM and permanently transfer the changes that occurred in the replica VM while it was in
the Failover State. Which course of action should you choose?

. Change the initial Replication job to reverse the replication
. “Undo Failover”

. “Failback” + “Commit Failback”

. “Permanent Failover”

OO w>

Answer: B
Explanation: References:
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Question No : 6

Which can be used if the user key for an encrypted backup is forgotten or lost?

A. Veeam ONE

B. The user must request a metakey from support.
C. There is no way to restore the data in this case.
D. Veeam Backup Enterprise Manager

Answer: D

Question No : 7

Which of the following refers to the situation when the retention is breached on a forever
forward incremental backup?

A. A new .vib file is created, no transform operation is involved.

B. A transform operation re-builds the oldest full backup file in the chain to include changes
of the incremental backup following the full backup.

C. Veeam Backup & Replication immediately deletes the earliest increment, no transform
operation is involved.

D. Veeam Backup & Replication deletes the oldest full backup file with the following chain
of increments.

Answer: B

Question No : 8

After you selected Incremental mode in the job settings, how do you ensure the forever
forward incremental backup mode is configured?

A. Check the “Use Forever Forward Incremental” box

B. Enable synthetic full backups and/or active full backups

C. Disable synthetic full backups and active full backups

D. Enable“Transform previous backup chains into rollbacks”box
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Answer: C
Explanation:

Do not enable synthetic full backups and/or active full backups. If you enable synthetic
and/or active full backups, Veeam Backup & Replicationwill produce a forward incremental
backup chain.

References:

Question No : 9

Which requirements must be met in order to perform transaction log backups for a
database on a Microsoft SQL Server with Veeam Backup & Replication? (Choose the 2
appropriate options)

A. The recovery model for the database must be set to Simple.

B. The recovery model for the database must be set to Full or Bulk-Logged.
C. No other backup tool truncates the SQL server’s log files.

D. The database must have its log flies on a separate VMDK.

Answer: B,C

Question No : 10

During the SureBackup job execution, redo logs are created for each verified VM. Where
are the redo logs for the job located?

A. In a special folder of the Backup & Replication server
B. In the backup file itself

C. On the datastore specified in SureBackup job settings
D. On the backup repository

E. On the datastore specified in Virtual Lab settings

Answer: D



